OTDR Waveform comparison

Using PON D emo Box

A comparison of different manufacturers OTDR waveforms on a test
setup representing the difficulties of PON testing (high loss elements,
short distances, etc. )
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Test model

OTDR1
PON test box &
extra cables
OTDR3
OTDR4
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Measurement Setup
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Measurement Setup (Result12)
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Measurement Setup (Result's)
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Result 1: Waveform from ONU O
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Result 1-1: Waveform from ONU to OLT(OTDRIWSHE
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Result 1-2: Waveform from ONU to OLT(OTDRINS:
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Result 1-3: Waveform from ONU to OLT(OTDRINS:
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Result 1-4: Waveform from ONU to OLT(OTDRIENVSSO
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Result 2-1: Waveform from ONU to OLT (O TDRE
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Result 2-2: Waveform from ONU to OLT (O TDRINWSHC
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Result Ch Waveform from OLT to ONU (Compare
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